Energy problems I
1.) If a  car was traveling 12 m/s with a mass of 1500 kg, what would its kinetic energy be?

2.)  If someone running 4.5 m/s created 340 joules of kinetic energy, what is the person’s mass?

3.) If a boulder was rolling down a hill with 1500 joules of kinetic energy and a mass of 250 pounds, what is its velocity?

4.) If a 22.698 kg person was standing on a hill that had a height of 25 m, what is her potential energy?

5.) If a rock on the top of a building had 70,000 Joules of potential energy and a mass of 1500 kg, what is its height?

6.) If a building had a mass of 150,000 joules of potential is 350 feet above sea level, what is its mass?

7.) If a person was on a bike with a mass of 195.57 pounds on the top of a hill that was 78 feet tall, what would its final velocity (in m/s) of  the bike at the bottom of the hill?

